
                                          1 20

(2020-2021)

( )

_____________________

________ ______

1.

2.

3.

4.

5. 70

I. 20

1 2

1.

(1)

(2)

(3)

A (1) (2) (3)
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D (2) (1) (3)
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2. A B

(1) A

(2) A

(3) B A

A (1) (2)

B (1) (3)

C (2) (3)

D (1) (2) (3)
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A
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A
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6.

A

B

C

D

7.

A

B

C

D

8.

A

B

C 1 mol dm–3 1 mol dm–3

D 1 mol dm–3 1 mol dm–3
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9.

A O2(g) + H2O(l) O3(g) + 2H+(aq) + 2e

B O2(g) + 4H+(aq) + 4e 2H2O(l)

C H2(g) + O2(g) + 2H+(aq) + 2e 2H2O(l)

D H2(g) + 2OH (aq) 2H2O(l) + 2e

10 11

E F G H

10.

A E H

B E G

C F H

D F G

11.

X Y

A

B

C

D
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12.

A

B

C

D

13.

A BF3

B NF3

C PCl3

D SF6

14.

A

B

C

D

15.

(1)

(2)

(3)

A (1) (2)

B (1) (3)

C (2) (3)

D (1) (2) (3)

16.

(1)

(2)

(3)

A (1) (2)

B (1) (3)

C (2) (3)

D (1) (2) (3)
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17.

A CH3CH(CH3)CH(OH)CH2CHCHCH3

B CH3(CH2)4OHCH=CHCH3

C CH3(CH2)3OHCHC2H2CH3

D CH3CH(CH3)CH(OH)CH2CH=CHCH3

18.

A C6H12O

B C6H14O

C C7H14O

D C7H16O

19.

(1) C5H10O

(2)

(3) -4- -1-

A (1)

B (2)

C (1) (3)

D (2) (3)
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20.

A

B -1-

C -1-

D

II. 50

1. X

(a) (i) X (1 )

(ii) X (1 )

(b) (1 )

(c) (1 )

(d) C8H18

(i) (1 )

(ii) X Y

X + Y

Y (2 )

(iii) (1) CH3CCl3

(2 )

(2) 10

(2 )
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2.

(a) (i) (1 )

(ii) (1 )

(b) (2 )

(c) (2 )

(d) (1 )

3.

1 2.60 g 200 cm3

2 1

3

4 3.04 g

(a) (i) (1 )

(ii) (1 )

(b) 2 (1 )

(c) 3 (1 )

(d) 3 (1 )

(e) 4 (1 )

(f) (i) (3 )

O = 16.0 S = 32.1 Ba = 137.3

(ii) (2 )
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4.

25.0 cm3 250.0 cm3 25.0 cm3

0.110 mol dm–3

(a) (1 )

(b) 25.0 cm3 250.0 cm3

(4 )

(c) (1 )

(d) 17.90 cm3 g dm–3 (4 )

H = 1.0 C = 12.0 O = 16.0

(e)

(2 )

5.

(III) [Cr(OH)6]3–

OCl–

(a) OCl– (1 )

(b)

(i) (1 )

(ii) (1 )

(c) (1 )

(d)

(1 )
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(e)

(i)

+ + +

(1 )

(ii) (3 )
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